
 

7/18/2019 www.lankota.com   |   Lankota Inc. Page | 1 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

LANMBCNH 

Installation Instructions 
Lankota Corner Cubby for Case IH Magnum and New Holland T8 Tractors 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

7/18/2019 www.lankota.com   |   Lankota Inc. Page | 2 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

LANMB301 (1) LANMB302 (1) LANMB303 (1) LAN933114A (3) 

LANFM7KV (2) LAN18000 (2) LAN1618000 (2) LANMB300  (1) 

Numerical Parts List 

Part Numbers Description Qty 
LANMBCNH Case IH & New Holland Mounting System 1 

LANMB301 Lower CC Pole 1 
LANMB302 Upper CC Pole 1 
LANMB303 CC Mount Plate 1 
LAN933114A 1/4” x 1” Hex Self-Drilling Screw 3 
LANFM7KV 3/8” x 1” Gr 5 Serrated Flange Bolt 2 
LAN18000 3/8” Flat Washer 2 
LAN1618000 3/8” Nyloc Nut 2 

LANMB300 (Optional) Corner Cubby 1 

Pictorial Parts List 



 

7/18/2019 www.lankota.com   |   Lankota Inc. Page | 3 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 1 

Refer to Figures 1 & 2 

1. Remove the two socket head cap screws holding the existing monitor rail. 

2. Assemble the telescoping upper and lower pole components and the 
mounting plate (LANMB301, LANMB302 & LANMB303). 

3. Raise the upper pole section and mount it using the existing cap screws while 
letting the lower pole section rest on the floor mat (Refer to Figure 1).  

4.  Lift the lower pole section, roll the floor mat back and place the foot of the 
lower pole section flat against the floor in the corner between the window 
and the corner post. 

5. Using the provided self tapping screws, drill through the holes in the lower 
foot into the floor (Refer to Figure 2). 

Figure 2 



 

7/18/2019 www.lankota.com   |   Lankota Inc. Page | 4 MacDon & Case IH and CIH are registered trademarks of MacDon Ind. Ltd. & CNH Global. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 3 

Refer to Figures 3 & 4 

6. Tight the split collar at the top of the lower pole section to lock 
the assembly together. 

7. Notch the floor mat neatly around the lower pole section. 

8. Loosely install the lower flange bolt in the mounting plate to 
receive the lower open slot in the corner cubby.  

9. Install the top mounting bolt and tighten both. 

10. The corner cubby can be raised or lowered to the desired 
location along the pole. 

Figure 4 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 


